
 
ANDHRA PRADESH COMMON EXAMINATIONS 
SUMMATIVE ASSESSMENT-I - SEPTEMBER-2016 

GENERAL SCIENCE , Paper – I 
 (Physical Sciences) 

(Telugu Version) 

Class-10  -  Principles of Evaluation - PART-A &B 
Q.No Points for Evaluation Marks 

allotted 
Total 

Marks 
1. 

(or) 
  
(any related point also suitable. Only one point is needed) 

    1     1 

2.    
(or) 
  
(or) 

(any related point also suitable. Only one point is needed) 

    1     1 

3. .  
(or) 
.  
(any related point also suitable. Only one or two points are needed) 

 
    1 

    
    1 

4. ଵ
௙
  = (nba-1)ቀ ଵ

ோభ
−	 ଵ

ோమ
ቁ   

(or) 
	ଵ
௙
  = (n -1)ቀ ଵ

ோభ
−	 ଵ

ோమ
ቁ 

(any related point also suitable. Only one point is needed) 

    1     1 

5.     
1 


 

1 
 

2  2  
3  3  
4  4  

 

 
    2x1 

 
    2 

 (any related points also suitable. Only two points are needed) 
6. (i)  

(ii) 
(iii)  
(iv)  
(v)  
 (any related points also suitable. Only two points are needed) 

 
    2x1 

 
    2 

 
 
 
 

NAGA MURTHY- 9441786635   
Contact at :   nagamurthysir@gmail.com    
Visit at :    ignitephysics.weebly.com 

mailto:nagamurthysir@gmail.com


 
7. (a) ‘f’ ଵ

௙
 = ଵ

௨
 + ଵ

௩
   

(b) ଵ
௙
 = ଵ

ଵହ
 + ଵ

ଷ଴
  = ଶାଵ

ଷ଴
 = ଷ

ଷ଴
 = ଵ

ଵ଴
       f = 10 cm (Negative) 

(OR) 
(a) ‘f’ 	݂  =   ௨	௩

௨ା௩
 

(b) ݂  = ଵହ	௑	ଷ଴
ଵହାଷ଴

 = ସହ଴
ସହ

 = 10 cm (Negative) 
(OR) 
(a) ‘f’   ݂  =   ோ

ଶ
 

(b) = ,  C’ 
          “R” = 20 cm 

                                           ݂   =  ோ
ଶ
  = ଶ଴

ଶ
 = 10 cm (Negative) 

    1 
 
    1 

 
     
    2 

(any related point also suitable. Only two points are needed) 

8. (i)  
(ii)  
(iii)  
(iv)  
(v)  
(vi)  
(vii)  
(viii)  
(any related points also suitable. Only four points are needed) 

 
 
  4 x ½ 

 
   
   2 

9. Sin C  =  ଵ
௡
       1 

 
     1 

 
     
    2 Sin C  =  ଵ

ଵ.ହ
   Sin C  =  ଵ଴

ଵହ
   Sin C  =  ଶ

ଷ
   

      C  = 42o 
Note: Consider whether they write 42o or not. 
(any related point also suitable. Only two points are needed) 

10A. (a) 0oC 10 gm 0oC   
             (L) = 80 cal/gm. 
             (Q1) = mL = 10x80 = 800 cal 

 
    1 

 
 
 
 
   4 (b) 0oC 10 gm 100oC                    

             (s) = 1 cal/gm-oC 
             (Q2) = m.s.∆T = 10x1x100 = 1000 cal 

    1 

(c) 100oC 10 gm 100oC   
             (L) = 540 cal/gm. 
              (Q1) = mL = 10x540 = 5400 cal 

    1 

  
 0oC 10 gm 100oC   
(Q) = Q1+ Q2+ Q3  = 800 + 1000 + 5400  = 7200 cal 

    1 

(any related points also suitable. Only 4 points are needed)  
 (OR)   
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10B. . 

          ‘u’ . 
                                 (f) = 20cm 
                             (u) = -60cm 
                           (v) = ? 

                              : ଵ
௙
 = ଵ

௩
 - ଵ

௨
   

          ଵ
௩
 = ଵ

௙
 + ଵ

௨
 = ଵ

ଶ଴
 + ଵ

ି଺଴
 = ଵ

ଶ଴
 - ଵ

଺଴
  = ଺଴ିଶ଴

ଶ଴	௑	଺଴
 = ସ଴

ଵଶ଴଴
 

                                      ଵ
௩
 = ଵ

ଷ଴
   v = 30cm 

C 
F  C 30 cm . 
:  
(1)  (2)  (3) . 

   ½ 
 
   ½ 
    
   ½ 
 
   ½ 
   ½ 
  
 
   3 x ½ 

     
 
 
 
    4 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
   4 

(OR)     
 
   1 
       
   3x1 

C 
F  C  
 :  
(1)  (2)  (3) .  
(any related point also suitable. Only 4 points are needed) 

11A. 
 O MM, NN
MM NN
MMO
NN O
NN0o - 90o 
 NN
MM
 O
NN
MM
O
NNi15o
O
r
sin i, sin r ࢔࢏ࡿ	࢏

࢘	࢔࢏ࡿ
 

 20o,25o,  30o 35o 

࢔࢏ࡿ	࢏
࢘	࢔࢏ࡿ

   
(any related point also suitable. No need of number of points. 
Concept should be clear in minimum four points.) 
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 (OR)   
11B. (i)  

(ii)  
(iii)  
(iv)  
(v)  
(vi) 
 
(vii)  
(any related point also suitable. No need of number of points. 
Concept should be clear in minimum four points.) 

 
 
 
 
 
 
     * 
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12A. (i)  
    Al (Aluminium)   Fe (Iron)   Fe2O3 
(ii) 
    “ ∆ “. 
(iii)  
       
(iv) 
      Fe2O3  
(v)  
       

       1 
 
     1 
 
     1 
 
     ½ 
 
     ½ 
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(any related point also suitable. Only four points are needed )    

 (OR)   
12B.     

    
                    
    


 

   

 
 


 

 

 (OR) 
    
    
    
    
    
 

 

 

 

(any related points also suitable.) 

 
 
Any 6 
blanks 
carries  
 
6 x½  
 
The 
next 4 
blanks 
carries  
 
4x1

4ൗ  
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13A.  

 
 
 
 
 
 
(any diagram related is sufficient. Meaningful diagram is enough.) 

      
 
 
   3 + 1 

 
     
 
    4 

 (OR)This question is not for testing drawing skill.   

13B.  
 
 
 
 
 
 
 

      
 
 
   3 + 1 
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

(any diagram related is sufficient. Meaningful diagram is enough.) 

 
 

Section - IV 

S. No Ans. S. No Ans. S. No Ans. S. No Ans. 

14 C 19 A 24 B 29 B 

15 A 20 A 25 A 30 B 

16 C 21 * 26 A 31 B 

17 D 22 B 27 A 32 C 

18 A 23 C 28 B 33 D 

Note :  * means allot full marks. Each question carries ½ mark. 
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: 

(i)  

(ii)  

(iii)  
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